16

MIGHTY SEVEN @

Air Sander

iItem No : OB-58502 / 0B-58602

The consumable parts

4 The replacement parts

# The non-replacement parts

Part Lis

Item No : OB-58502
Item No : OB-58602

C€

NO.| INDEX NO. DESCRIPTION QTyY NO.| INDEX NO. DESCRIPTION aTy
w | 1 | QB-58502P01 |HOUSING 1 A | 27 | QB-58502P27 |FRONT PLATE 1
* | 3 | QB-58502P03 |SCREW (M4*8) 1 ¥ | 28 | QB-58502P28 |WASHER 1
+ | 3A | QB-58502P03A |SCREW (M4*12) 1 W | 29 | QB-58502P29 |WASHER 1
4 | QB-58502P04 |O-RING 1 # | 30 | QB-58502P30 |MOTOR SHAFT 1
# | 5 | QB-58502P05 |VALVE STEM 1 BALANCER (57)
+ | 8 | oB-s8502P06 |BUSHING 1 A | 31 | OB-58502P31 |ROTOR KEY 1
+ | 7 | aB-58502P07 |WASHER 1 ¥ | 32 | QB-58502P32 |SNAP RING 1
# | & | oB-sas02P08 [VALVE 1 A | 33 | QB-58502P33 [BEARING (6001LU) 1
+ | 9 | aB-58502P00 |SPRING 1 A | 33A] QB-58502P33A |BEARING(8001) 1
10 | ap-58502P10 |PACKING 1 # | 34 | QB-58502P34 |SHAFT SEAL 1
# | 11 | QB-58502P11 |HOUSING BACK SEAT 1 | 35 | QB-58502P35 [SNAF RING 1
# | 12 | aB-58502P12 |AIR INLET 1 ||| 36 | QB-58502P36 |SHAFT 1
13 | aB-58502T13 [0O-RING (2 PCS) 1SET]| ok | 37 | QB-58502P37 |WASHER 1
% | 14 | QB-58502P14 |REGULATOR 1 w | 38 | QB-58502P38 |HOUSING COVER 1
+ | 15 | aB-58502P15 |SNAP RING 1 # | 39 | QB-58502T39 |SCREW(M5*12) (4 PCS)|1 SET
W | 16 | QB-58502P16 |LEVER 1 W | 40 | QB-58502P40 |SHROUD 1
+# | 17 | aB-58502P17 |PIN(3*24L) 1 41 | QB-58502P41 |5" PAD HOOK-LUP 1
A | 19 | 0B-58502T19 [RUBBER BUSHING 1 SET QB-58602P41 |6" PAD HOOK-UP
(2 PCS) W | 42 | QB-58502P42 |EXHAUST SLEEVE 1
A | 20 | QB-58502P20 |SNAP RING 1 | 43 | QB-58502P43 |STOP SPANNER 1
A | 21 | QB-58502P21 |BEARING(6000ZZ) 1 | 45 | QB-58502P45 |PIN (3*8) 1
A | 22 | QB-58502P22 |REAR PLATE 1 W | 46 | QB-58502T46 |SCREW(M4°20) (2 PCS)|1 SET
23 | QB-58502T723 |ROTOR BLADE (5 PCS) |1 SET]| A | 47 | QB-58502P47 |BEARING(6002ZZ) 1
# | 24 | QB-58502P24 |ROTOR 1 k 49 | QB-58502T49 [SILENCER (3 PCS) 1 SET
4 | 25 | QB-58502P25 |CYLI NDER 1 [ 50 | QB-58502T50 STAINLESS MESH 1 SET
A | 26 | 0B-58502P26 |O-RING 1] (3PCS)
# | 51 | OB-58502P51 |SHIM 1
¥ | 52 | QB-58502P52 |PIN (3*12) 1




